

TABLE 1
UPPER PROVIDENCE TOWNSHIP
Greenwood Avenue Sanitary Sewer Extension
Contract No.: UPT24-02
Bid Tabulation

Bid Opening June 26, 2024

Sheet 1 of 4

Bid Item	Description	Unit	Estimated Quantity	N. Abbonizio Contractors, Inc. Conshohocken, Pennsylvania 19428		JNS Paving and Excavating, Corp. Line Lexington, Pennsylvania 18932		Anrich, Inc. Wayne, Pennsylvania 19087	
				Unit Price\$	Total Price\$	Unit Price\$	Total Price\$	Unit Price\$	Total Price\$
1	Mobilization / Demobilization	LS	1	\$15,000.00	\$15,000.00	\$22,000.00	\$22,000.00	\$4,000.00	\$4,000.00
2	Construction Survey / Stake Out and As-Built Drawings	LS	1	\$4,600.00	\$4,600.00	\$17,000.00	\$17,000.00	\$3,000.00	\$3,000.00
3	Filter Bag Inlet Protection	EA	3	\$170.00	\$510.00	\$400.00	\$1,200.00	\$125.00	\$375.00
4	Connection To Existing Sanitary Sewer System - Core Drill & Link seal	LS	1	\$4,250.00	\$4,250.00	\$2,600.00	\$2,600.00	\$3,500.00	\$3,500.00
5	8" Diameter SDR-26 PVC Sanitary Sewer Main	LF	777	\$148.00	\$114,996.00	\$105.00	\$81,585.00	\$154.32	\$119,906.64
6	6" Diameter SDR-26 PVC Sanitary Sewer Laterals	LF	200	\$181.00	\$36,200.00	\$90.00	\$18,000.00	\$191.22	\$38,244.00
7	8" x 6" SDR-26 PVC Gravity Wye Fittings	EA	10	\$615.00	\$6,150.00	\$700.00	\$7,000.00	\$440.00	\$4,400.00
8	4' Diameter Manhole Complete With Specified Frame & Cover & WrapidSeal	EA	4	\$6,600.00	\$26,400.00	\$5,800.00	\$23,200.00	\$11,450.00	\$45,800.00
9	Manhole Testing	EA	4	\$425.00	\$1,700.00	\$680.00	\$2,720.00	\$1,550.00	\$6,200.00
10	Gravity Sewer Pipeline Testing - Air Pressure Test & Mandrel Test	LF	777	\$2.20	\$1,709.40	\$3.00	\$2,331.00	\$6.40	\$4,972.80
11	Gravity Sewer Pipeline Cleaning & Televising	LF	777	\$2.50	\$1,942.50	\$5.00	\$3,885.00	\$4.00	\$3,108.00
12	Additional Excavation Below Subgrade	CY	100	\$78.00	\$7,800.00	\$125.00	\$12,500.00	\$85.00	\$8,500.00
13	Trench Pavement Restoration - Temporary	SY	600	\$16.00	\$9,600.00	\$30.00	\$18,000.00	\$14.98	\$8,988.00
14	Trench Pavement Restoration - Permanent	SY	800	\$69.00	\$55,200.00	\$58.00	\$46,400.00	\$73.83	\$59,064.00
15	Surface Milling (1.5" Depth)	SY	2,350	\$3.80	\$8,930.00	\$8.80	\$20,680.00	\$4.07	\$9,564.50
16	Base Repairs	SY	250	\$50.00	\$12,500.00	\$52.50	\$13,125.00	\$53.50	\$13,375.00
17	Scratch / Leveling Course	TON	150	\$107.00	\$16,050.00	\$125.00	\$18,750.00	\$114.49	\$17,173.50
18	Superpave Asphalt Mixture Design, Wearing Course, PG 64S-22, 0.3 < 3 Million ESALS, 9.5 mm Mix, SRL-H, 1.5" Depth	SY	2,350	\$12.00	\$28,200.00	\$12.80	\$30,080.00	\$12.84	\$30,174.00
19	Test Digs at Utility Main Crossings	EA	2	\$1,600.00	\$3,200.00	\$1,500.00	\$3,000.00	\$2,800.00	\$5,600.00
20	Thermoplastic Line Striping 4" Double Yellow	LF	1,000	\$2.40	\$2,400.00	\$4.00	\$4,000.00	\$3.07	\$3,070.00
21	Thermoplastic Line Striping 4" Single Yellow	LF	2,000	\$1.20	\$2,400.00	\$2.00	\$4,000.00	\$1.55	\$3,100.00
22	Maintenance And Protection Of Traffic	LS	1	\$7,850.00	\$7,850.00	\$19,800.00	\$19,800.00	\$5,820.00	\$5,820.00
23	Lawn Restoration, Fine Grade, Seed & Mulch	LS	1	\$2,500.00	\$2,500.00	\$8,600.00	\$8,600.00	\$3,000.00	\$3,000.00
24	Balance of Work	LS	1	\$4,705.00	\$4,705.00	\$4,000.00	\$4,000.00	\$10,375.00	\$10,375.00
	Bid Total				\$374,792.90		\$384,456.00		\$411,310.44

TABLE 1
UPPER PROVIDENCE TOWNSHIP
Greenwood Avenue Sanitary Sewer Extension
Contract No.: UPT24-02
Bid Tabulation

Bid Opening June 26, 2024

Sheet 2 of 4

Bid Item	Description	Unit	Estimated Quantity	KBC Construction LLC Warminster, Pennsylvania 19087		Barrasso Excavation, Inc. Oley, Pennsylvania 19547		DOLI Construction Corporation Chalfont, Pennsylvania 18914	
				Unit Price\$	Total Price\$	Unit Price\$	Total Price\$	Unit Price\$	Total Price\$
1	Mobilization / Demobilization	LS	1	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$15,000.00	\$15,000.00
2	Construction Survey / Stake Out and As-Built Drawings	LS	1	\$3,500.00	\$3,500.00	\$5,800.00	\$5,800.00	\$2,500.00	\$2,500.00
3	Filter Bag Inlet Protection	EA	3	\$100.00	\$300.00	\$150.00	\$450.00	\$50.00	\$150.00
4	Connection To Existing Sanitary Sewer System - Core Drill & Link seal	LS	1	\$7,000.00	\$7,000.00	\$1,900.00	\$1,900.00	\$3,500.00	\$3,500.00
5	8" Diameter SDR-26 PVC Sanitary Sewer Main	LF	777	\$166.00	\$128,982.00	\$120.00	\$93,240.00	\$300.00	\$233,100.00
6	6" Diameter SDR-26 PVC Sanitary Sewer Laterals	LF	200	\$167.00	\$33,400.00	\$185.00	\$37,000.00	\$150.00	\$30,000.00
7	8" x 6" SDR-26 PVC Gravity Wye Fittings	EA	10	\$300.00	\$3,000.00	\$450.00	\$4,500.00	\$300.00	\$3,000.00
8	4' Diameter Manhole Complete With Specified Frame & Cover & WrapidSeal	EA	4	\$9,990.00	\$39,960.00	\$8,500.00	\$34,000.00	\$6,000.00	\$24,000.00
9	Manhole Testing	EA	4	\$400.00	\$1,600.00	\$850.00	\$3,400.00	\$200.00	\$800.00
10	Gravity Sewer Pipeline Testing - Air Pressure Test & Mandrel Test	LF	777	\$4.00	\$3,108.00	\$3.50	\$2,719.50	\$2.00	\$1,554.00
11	Gravity Sewer Pipeline Cleaning & Televising	LF	777	\$8.15	\$6,332.55	\$7.00	\$5,439.00	\$3.00	\$2,331.00
12	Additional Excavation Below Subgrade	CY	100	\$15.00	\$1,500.00	\$22.00	\$2,200.00	\$25.00	\$2,500.00
13	Trench Pavement Restoration - Temporary	SY	600	\$15.00	\$9,000.00	\$17.00	\$10,200.00	\$1.00	\$600.00
14	Trench Pavement Restoration - Permanent	SY	800	\$108.00	\$86,400.00	\$95.00	\$76,000.00	\$75.00	\$60,000.00
15	Surface Milling (1.5" Depth)	SY	2,350	\$5.50	\$12,925.00	\$7.00	\$16,450.00	\$2.00	\$4,700.00
16	Base Repairs	SY	250	\$45.00	\$11,250.00	\$140.00	\$35,000.00	\$30.00	\$7,500.00
17	Scratch / Leveling Course	TON	150	\$109.00	\$16,350.00	\$180.00	\$27,000.00	\$90.00	\$13,500.00
18	Superpave Asphalt Mixture Design, Wearing Course, PG 64S-22, 0.3 < 3 Million ESALS, 9.5 mm Mix, SRL-H, 1.5" Depth	SY	2,350	\$15.52	\$36,472.00	\$22.00	\$51,700.00	\$15.00	\$35,250.00
19	Test Digs at Utility Main Crossings	EA	2	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00	\$1,000.00	\$2,000.00
20	Thermoplastic Line Striping 4" Double Yellow	LF	1,000	\$2.55	\$2,550.00	\$7.00	\$7,000.00	\$2.00	\$2,000.00
21	Thermoplastic Line Striping 4" Single Yellow	LF	2,000	\$1.40	\$2,800.00	\$4.00	\$8,000.00	\$1.00	\$2,000.00
22	Maintenance And Protection Of Traffic	LS	1	\$10,000.00	\$10,000.00	\$10,500.00	\$10,500.00	\$10,000.00	\$10,000.00
23	Lawn Restoration, Fine Grade, Seed & Mulch	LS	1	\$7,000.00	\$7,000.00	\$1,700.00	\$1,700.00	\$1,000.00	\$1,000.00
24	Balance of Work	LS	1	\$4,500.00	\$4,500.00	\$5,500.00	\$5,500.00	\$3,000.00	\$3,000.00
	Bid Total				\$440,929.55		\$450,098.50		\$459,985.00

TABLE 1
UPPER PROVIDENCE TOWNSHIP
Greenwood Avenue Sanitary Sewer Extension
Contract No.: UPT24-02
Bid Tabulation

Bid Opening June 26, 2024

Sheet 3 of 4

Bid Item	Description	Unit	Estimated Quantity	Joseph J. Danielle, LLC Trainer, Pennsylvania 19014		Passerini & Sons, Inc. Hilltown, Pennsylvania 18974		Jurich, Inc. Glen Mills, Pennsylvania 19432	
				Unit Price\$	Total Price\$	Unit Price\$	Total Price\$	Unit Price\$	Total Price\$
1	Mobilization / Demobilization	LS	1	\$5,500.00	\$5,500.00	\$18,000.00	\$18,000.00	\$3,280.00	\$3,280.00
2	Construction Survey / Stake Out and As-Built Drawings	LS	1	\$6,325.00	\$6,325.00	\$2,800.00	\$2,800.00	\$6,121.00	\$6,121.00
3	Filter Bag Inlet Protection	EA	3	\$345.00	\$1,035.00	\$300.00	\$900.00	\$183.00	\$549.00
4	Connection To Existing Sanitary Sewer System - Core Drill & Link seal	LS	1	\$3,552.08	\$3,552.08	\$7,000.00	\$7,000.00	\$1,940.00	\$1,940.00
5	8" Diameter SDR-26 PVC Sanitary Sewer Main	LF	777	\$174.07	\$135,252.39	\$168.00	\$130,536.00	\$188.00	\$146,076.00
6	6" Diameter SDR-26 PVC Sanitary Sewer Laterals	LF	200	\$112.51	\$22,502.00	\$155.00	\$31,000.00	\$141.00	\$28,200.00
7	8" x 6" SDR-26 PVC Gravity Wye Fittings	EA	10	\$804.80	\$8,048.00	\$1,800.00	\$18,000.00	\$210.00	\$2,100.00
8	4" Diameter Manhole Complete With Specified Frame & Cover & WrapidSeal	EA	4	\$8,548.35	\$34,193.40	\$9,400.00	\$37,600.00	\$9,527.00	\$38,108.00
9	Manhole Testing	EA	4	\$862.50	\$3,450.00	\$300.00	\$1,200.00	\$593.00	\$2,372.00
10	Gravity Sewer Pipeline Testing - Air Pressure Test & Mandrel Test	LF	777	\$4.44	\$3,449.88	\$2.50	\$1,942.50	\$6.00	\$4,662.00
11	Gravity Sewer Pipeline Cleaning & Televising	LF	777	\$4.44	\$3,449.88	\$4.50	\$3,496.50	\$10.00	\$7,770.00
12	Additional Excavation Below Subgrade	CY	100	\$100.80	\$10,080.00	\$50.00	\$5,000.00	\$75.00	\$7,500.00
13	Trench Pavement Restoration - Temporary	SY	600	\$23.67	\$14,202.00	\$9.00	\$5,400.00	\$24.00	\$14,400.00
14	Trench Pavement Restoration - Permanent	SY	800	\$94.70	\$75,760.00	\$56.00	\$44,800.00	\$97.00	\$77,600.00
15	Surface Milling (1.5" Depth)	SY	2,350	\$7.09	\$16,661.50	\$11.00	\$25,850.00	\$5.00	\$11,750.00
16	Base Repairs	SY	250	\$136.39	\$34,097.50	\$68.00	\$17,000.00	\$56.00	\$14,000.00
17	Scratch / Leveling Course	TON	150	\$176.99	\$26,548.50	\$135.00	\$20,250.00	\$133.00	\$19,950.00
18	Superpave Asphalt Mixture Design, Wearing Course, PG 64S-22, 0.3 < 3 Million ESALS, 9.5 mm Mix, SRL-H, 1.5" Depth	SY	2,350	\$19.66	\$46,201.00	\$33.00	\$77,550.00	\$18.00	\$42,300.00
19	Test Digs at Utility Main Crossings	EA	2	\$1,037.90	\$2,075.80	\$800.00	\$1,600.00	\$2,771.00	\$5,542.00
20	Thermoplastic Line Striping 4" Double Yellow	LF	1,000	\$4.80	\$4,800.00	\$6.00	\$6,000.00	\$2.00	\$2,000.00
21	Thermoplastic Line Striping 4" Single Yellow	LF	2,000	\$4.80	\$9,600.00	\$3.00	\$6,000.00	\$1.00	\$2,000.00
22	Maintenance And Protection Of Traffic	LS	1	\$4,800.00	\$4,800.00	\$9,500.00	\$9,500.00	\$75,000.00	\$75,000.00
23	Lawn Restoration, Fine Grade, Seed & Mulch	LS	1	\$6,471.05	\$6,471.05	\$6,000.00	\$6,000.00	\$4,467.00	\$4,467.00
24	Balance of Work	LS	1	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$603.00	\$603.00
	Bid Total				\$483,054.98		\$492,425.00		\$518,290.00

TABLE 1
UPPER PROVIDENCE TOWNSHIP
Greenwood Avenue Sanitary Sewer Extension
Contract No.: UPT24-02
Bid Tabulation

Bid Opening June 26, 2024

Sheet 4 of 4

Bid Item	Description	Unit	Estimated Quantity	Joao & Bradley Construction Co., Inc. Bethlehem, Pennsylvania 18020		RIII Construction, Inc. Nazareth, Pennsylvania 18064		MOR Construction Glen Mills, Pennsylvania 19432	
				Unit Price\$	Total Price\$	Unit Price\$	Total Price\$	Unit Price\$	Total Price\$
1	Mobilization / Demobilization	LS	1	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00
2	Construction Survey / Stake Out and As-Built Drawings	LS	1	\$7,500.00	\$7,500.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00
3	Filter Bag Inlet Protection	EA	3	\$200.00	\$600.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00
4	Connection To Existing Sanitary Sewer System - Core Drill & Link seal	LS	1	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$7,500.00	\$7,500.00
5	8" Diameter SDR-26 PVC Sanitary Sewer Main	LF	777	\$255.00	\$198,135.00	\$289.00	\$224,553.00	\$325.00	\$252,525.00
6	6" Diameter SDR-26 PVC Sanitary Sewer Laterals	LF	200	\$190.00	\$38,000.00	\$65.00	\$13,000.00	\$400.00	\$80,000.00
7	8" x 6" SDR-26 PVC Gravity Wye Fittings	EA	10	\$600.00	\$6,000.00	\$2,200.00	\$22,000.00	\$950.00	\$9,500.00
8	4' Diameter Manhole Complete With Specified Frame & Cover & WrapidSeal	EA	4	\$7,000.00	\$28,000.00	\$6,500.00	\$26,000.00	\$18,000.00	\$72,000.00
9	Manhole Testing	EA	4	\$250.00	\$1,000.00	\$300.00	\$1,200.00	\$3,500.00	\$14,000.00
10	Gravity Sewer Pipeline Testing - Air Pressure Test & Mandrel Test	LF	777	\$2.00	\$1,554.00	\$3.00	\$2,331.00	\$20.00	\$15,540.00
11	Gravity Sewer Pipeline Cleaning & Televising	LF	777	\$3.50	\$2,719.50	\$5.00	\$3,885.00	\$17.00	\$13,209.00
12	Additional Excavation Below Subgrade	CY	100	\$10.00	\$1,000.00	\$20.00	\$2,000.00	\$500.00	\$50,000.00
13	Trench Pavement Restoration - Temporary	SY	600	\$17.00	\$10,200.00	\$15.00	\$9,000.00	\$95.00	\$57,000.00
14	Trench Pavement Restoration - Permanent	SY	800	\$100.00	\$80,000.00	\$100.00	\$80,000.00	\$155.00	\$124,000.00
15	Surface Milling (1.5" Depth)	SY	2,350	\$7.00	\$16,450.00	\$8.50	\$19,975.00	\$13.00	\$30,550.00
16	Base Repairs	SY	250	\$50.00	\$12,500.00	\$110.00	\$27,500.00	\$65.00	\$16,250.00
17	Scratch / Leveling Course	TON	150	\$50.00	\$7,500.00	\$150.00	\$22,500.00	\$120.00	\$18,000.00
18	Superpave Asphalt Mixture Design, Wearing Course, PG 64S-22, 0.3 < 3 Million ESALS, 9.5 mm Mix, SRL-H, 1.5" Depth	SY	2,350	\$20.00	\$47,000.00	\$17.50	\$41,125.00	\$26.00	\$61,100.00
19	Test Digs at Utility Main Crossings	EA	2	\$500.00	\$1,000.00	\$550.00	\$1,100.00	\$3,000.00	\$6,000.00
20	Thermoplastic Line Striping 4" Double Yellow	LF	1,000	\$3.00	\$3,000.00	\$3.00	\$3,000.00	\$4.50	\$4,500.00
21	Thermoplastic Line Striping 4" Single Yellow	LF	2,000	\$3.00	\$6,000.00	\$1.50	\$3,000.00	\$2.50	\$5,000.00
22	Maintenance And Protection Of Traffic	LS	1	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
23	Lawn Restoration, Fine Grade, Seed & Mulch	LS	1	\$3,500.00	\$3,500.00	\$6,500.00	\$6,500.00	\$8,000.00	\$8,000.00
24	Balance of Work	LS	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$40,000.00	\$40,000.00
	Bid Total				\$519,658.50		\$603,669.00		\$951,174.00